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1.  There are at least two related characteristics of micro markets that cannot be explained by looking at micro analysis alone:  the common movement (or "correlation") of both price and output movements across markets.  While there are exceptions, most markets expand and contract together, and this correlation across markets generates the business cycle.  Also, price increases tend to be similar across markets.  These common movements suggest that something is going on at the aggregate level of the economy that cannot be explained by looking at specific markets in isolation.

2.a)  GDP rises by $8,000 because the garage is a final good.  In fact, it would be classified as residential investment.

b)  GDP rises by only $2,000, the value of the goods bought in the market.  The value of the labor does not count toward GDP because it does not go through the market.

c)  None of these activities go through the market so Smith's work for herself does not affect GDP.

d)  The value of the newly constructed home, $180,000, adds to GDP as part of residential investment.  The sale of the existing Jones home is the exchange of a previously produced asset and therefore has no effect on GDP.

e)  Sales of existing stock does not affect GDP, even if the seller makes a profit.  Again, this is an example of the exchange of an existing asset.  Nothing new is produced as the result of this activity.  (The money made by buying and selling assets is called a “capital gain.”)

f)  Even though Honda is a Japanese company, the value of its production in the U.S., including profits that may accrue to Japanese owners, is part of U.S. GDP.  GDP measures what is produced within a country's borders whether the producing company is owned by domestic citizens or foreigners.  (The profits made by a Japanese company and transferred back to Japan would not be included in GNP, as discussed in class.)

g)  Lottery winnings do not represent the sale or production of final goods and services.  Therefore, they are not included in GDP.  In this case, lottery winnings would be treated like a transfer payment.

h)  The expenditure on a vacation represents the consumption of final goods and services.  GDP rises by $10,000 regardless of the source of the money your grandmother uses to pay for her trip.

i)  Social security is a transfer payment, not the purchase of final goods and services.  GDP is unaffected.

j)  Durable pollution control equipment is part of non-residential investment, a final good.  Therefore, GDP rises by $20 billion.  

3.  This legal case raises GDP by $1,000,000 which is Jane Justice's fee for services provided.  This payment raises GDP because legal services are part of final output.  The $2,000,000 awarded to Joe Doe is a private transfer payment and therefore is not part of GDP.

4.  There are a variety of problems with using GDP as an index to measure economic welfare; you needed to clearly explain three of them to receive full credit for this problem.  Here are some good examples:

- Goods sold in the "underground economy" are not counted as part of GDP, and therefore their contribution to welfare is ignored.

- If people sacrifice leisure time to work more, GDP will rise due to the goods they produce for sale on the market, but there is no subtraction for the welfare they lose by sacrificing their leisure time.

- Any welfare-enhancing production that is not sold on the market will not be included in GDP (housework, for example), and therefore GDP may understate economic welfare.

- There is no correction to GDP for the loss of capital due to depreciation, causing GDP to overstate the net production of the economy.

- GDP includes output designed to offset "bads" in the economy (pollution control and police protection, for example), but there is no subtraction for the negative impact of the "bads" themselves.

- GDP does not reflect the distribution of final output or income across individuals.  Even though aggregate GDP may be growing, the material welfare of many individuals in the economy may be declining.

Other coherent ideas may receive credit.

5.a).  GDP rises by $10,000 with consumption increasing by $20,000 and imports increasing by $10,000.  Note that these figures are consistent in the GDP equation, Y = C + I + G + Ex – Im.  The profit figure is irrelevant for this part of the question.

b)  The results are the same as part a).  An important point from both parts a) and b) is that GDP measures production within the “domestic” borders.  It doesn’t matter whether the business undertaking the production is owned by domestic citizens or foreigners.

c)  National income excludes profits earned by foreign citizens in the U.S.  Therefore the car produced by Toyota adds $7,000 to national income ($10,000 addition to GDP less $3,000 in profits to Japanese citizens).  The truck produced by Ford adds $10,000 to national income.  Because none of the income generated by Ford goes abroad, the rise in national income equals the rise in GDP in the situation described in part b).

